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o STOP. 8xH88888019 (8xH80888888,8xCH8ESFF8, 8xFFFFEFD4, 8:xCO888888 )

BAaDl_POOL_HEADER

CPUID: Genuine Intel 53.2.c irgl:iif SYSUER B8xfed8asa6s

I*ll Base DateStnmnpep — Hame 1l Base DateiStmpep — Hame

BalB8aBae IZ282cB7e — ntoskenl .exe Baalaead Fleeccaz2 — hal .dll

Fe8B81888 IledBsbd — atapi.sys BagBseBAl FleceEc?d — SCRIPORT .SYS
BHZc6BB@Al FledB6bf — aic?Bxx.sSus BaZcdBald F1ledz23I?c — Disk.syus

S82d1888 IlecEc?7a — CLASS2 .5YS BA3I7cHBAl FleedBa? — Htfs.sys

fce98888 FlecEcy?d — Floppy .5YS fceaBBBAl Flececal — Cdron.3YS

fco98afdd FIlecedf? — Fs_Rec .5Y5 fococ98Al Flecec99 — Hull .5¥5

fcEed888 Iled8B68b — KS5ecDD.SYS fcO9cadBld Flece6c?8 — Beep.35Y¥5

fcedEBAA FlecEc98 — iBB8dZ2Zprt .Sys fcB6cBAE FlecEc9? — mouclass .syus
o748 Ilec6c9d4 — kbdclass .sys focef@BAl 3I1f58722 — UIDEOPORT .S5YS
feffaBBl JFlececHEZEZ — mga_mil .sy=s fc89@88A Flecoced — vga.sys

fc788888 Flececch — Msf= . .35Y5 fcdbAdBBAl Flececc? — Hpfs.35Y5

fefbcBdd FleedZ6Z2 — HDIS .S5YS afd@Baae I1f954f7 — winI2zk.syus
fefadfdd FI1f91a51 — mga.dll fec3iiddd IFleeddB? — Fastfat .3Y5
febBcBdl Flectetoc — TDI.SYS feafdddd 3I1edd?54 — nbf .sys

feacf888 31f138a? — tcocpip.sus feab3BBAd 3FI1f538a6a — netbht .sys

fcoaABfAAd FI1681add — ela9x.Sys fcoeABAd I1fBEfB6d — afd.sys

fc718888 Fleceea — netbios . .Sys fcB58888 Flecec9b — Parport .cys
fcE78088 Flecé6c9b — Parallel .5YS fco9h54888 Flectc9d — ParlUdm.5Y¥5
fcobABBdd IlecEéchl — Serial .S5YS feadcBdd 3I1f58830b — »dr .sys

feaibfBdld F1f7alba — mup.sys fed9dadfld 3I2B31abe — sprv.sys

fddrecs dword dumpe Build [13811 — Hame

fecizZdid 8814388 8814388 88144888 ffdff888 a7 8bAZ — KS5echD.35YS
581471 c8 88144888 88144888 fFfdffe88 cE@3IdBEBbs a8 EBEE1 — ntoskrnl .exe
581471dc 88122888 fAA3Ifed fA3B8eeed 2133cdbd el133cd4aB — ntoskrnl .exe
58147384 883823f8 A8 zZ23c AHAAAATa HABABHAEA AAABABAR — ntoskrnl .exe

Festart and set the yrecovery options

in the system control
oxr the CRASHDEBUG system start option.
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nek B2 M (Shape Analysis)
[Sagiv et al. 2002, TOPLAS 20(1)]
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O LtHsk HZA(strong update)
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SIGPL 7{27st

AHo| £40=2 RO

Mol =Moo Z QoF [Lee et al. 2005, ESOP]
[Sagiv et al 2002, TOPLAS] [Berdine et al 2007, CAV]
X —™> ns, rx /‘> X —> |ist
S,IXry—> NS, rx,ry > —> st
y —> ns, ry y— list

0| 2M @ ST
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D B0l SHHBH HA: WU, L

[eX TNy} o Yienh.
W ojp{ MlS Qokst 74 l—X—llStO,
- T~ hile(x!=NULL
| —> list elm={0} list while(x!= ){
elm={1} elm={0} x->elm = 1;
X X=X->next;
st }:{1} list \
elm={1} elm={0}
X
list _ - list
| — elm=(1) —> elm={1} ——| elm={0} — elm={0} THLY 7|
X
| —> list ——> elm={1} m={0} SN list
elm={1} elm={0}
: X \ .
| —> st > elm={0} —> ISt 7)1

elm={1} elm={0}
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S5t DOF JaiZ U} 7|2 e
|.

(powerset)= 22 L @l(abstract
203 2A7|

O JHLYZ| (focusing): I QIE| GHAF CHAF MOj| CHS| =
o 47| (abstraction EE-= summarization)
a  BtX[7] (join)
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LI FH=

0 2 QF 2 XM(shape analysis)2| T &% Q1 =3l

Q CASE 1: [Yang et al. 2008, TR, Queen Mary U. of London]
0 B Y M CHQ: 0|5 UE 3 2| AE (nested
cyclic doubly-linked list)
O =M olZt T2 AKX ZF M (context-sensitive interprocedural
analysis)
O CASE 2:[0[2 A 2@ 69, ETRI]
0 Ee 2% 24 Z0Ql Ef (tree)

Q

O
==

=4 ZTEAN 7t 24 (context-insensitive interprocedural
analysis)

Bl
N
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DT2A|X 78

1=

(Interprocedural Analysis)
0 ZERAIN $E2 53 45522 18 £4

int f(int x) { return x; }
int main() { printf(“%d\n”, f(1)+£(2)); }

QO 9 =ZF (context insensitive)

O 2=5= StLIE |FO{A 24

& o Aol M (1), 1(2) & 74%’—% ot x= {1, 2} 0|22, ZEA|N fo| Ait=
{1, 2}, A B2 f(1)+f(2Q)= {2, 3, 4}.

QO 9 02 (context sensitive)

o =2== EE”EE =4

# OH[OM f(1)e] B x= 10|22 Zit= 1, f(2)2] 4% xz= 20|22 &
= 2, A8 2 f(1)+f(2):3

0|2MH @



[Reps et al. 2005, POPL]

M) > 1 )
f(2) = 2 1 1
f(2) = 2 2 2

B ZH0AMs B 2 7HE HR=2 20 M
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BEFORE
Routine LOC|Space (Mb)|Time (sec)|Result
t1394_BusResetRoutine 718 322.44 663 v
t1394Diag_Cancellrp 693 1.97 0.56 %,
t1394Diag_CancellrpFix 697 263.45 724 v
t1394_Get AddressData 693 2.21 0.61 %
t1394_GetAddressDataFix 698 342.59 1036 v
t1394_Set AddressData 689 2.21 0.59 @
t1394_Set AddressDataFix 694 311.87 956 v
t1394Diag_PnpRemoveDevice |[1885] >2000.00 >9000| T/O




Hanyang
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AFTER

SIGPL 7{27st

Program LOC| Sec Mb |Memory Leaks|Dereference Errors
pci-driver.c| 2532 0.79 3.19 0 0
cdrom.c 6218 91.88| 84.30 0 2
t1394Diag.c [10240| 145.95| 71.27 33 10
md.c 6635(1440.53|814.45 6 5
11 rw blk.c | 5469| 997.66(523.22 3 1
class.c 1983 6.68| 8.36 0 0
scull.c 1010 0.21| 1.47 0 0
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List* t, h=0;
t=? h=0 /*t=0; */
while (nondet) {

h — list t=h;
h = malloc();

. h->next=t;
h — —>  list '
7 = /% 1=0; */
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non-empty

—>
—>

h
t

non-empty
list

h —

t—

list

non-empty




H (=]
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onelist.c 3 2
twolist.c 9 4
firewire.c 3,969 37

=218 22 20
t1394Diag.c (X £ 973 184.87 575.82 0.36 2.70
t1394Diag.c (£ &£ 1,825 >90 min - 1.21 5.16
pci-driver.c 2,532 >90 min - 0.55 4.42
cdrom.c 6,218 >90 min - 107.91 357.58
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QO O X|: IEEE1394 E2}0|H]

0 SF XA (structure)o|= CHA 71o| Z|AE EE =X
O Zt rélE I:EHE I:I|_| ElﬁE, Hle 86!-% ElﬁE, ) 7|—X| %_?_7% |—|'_CP_EE _j|:_|_+_ 25

I

32 7tX| 827t 2

0 2|AEQ @9 LEO H 2|AE 3t E ®HY
a NE (non-empty), PE (possibly empty)
0 NE < PE 22A{0f 2 3t 58 (oin) 90| 47 22
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PE A2 A|

A2l
onelist.c 2 1
twolist.c 4 1
firewire.c 37 1

&5 (s) 22| (MB) &E(s) OjZ2| (MB)

| NE | NE&PE

t1394Diag.c 10,240 > 90 min - 119.40 425.16
pci-driver.c 2,532 >90 min - 0.55 4.42
cdrom.c 6,218 > 90 min - 107.91 357.58
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8% 20|7| #4: ZE2A|X 244X X|F8 &

y=0,z=0——>x=0,y=0,2z=0 x=0,z=0 (iy:O,z:O
y=1,2=0——>x=0,y=1,z=0 int f(int x) y=1,z=0

{

f(z) return x+z; f(z)
y=0,2=0,5=0<—y=0,2=0,$=0 } y=0,2=0,$=0
y=1,2=0,$=0<—y=1,2=0,$=0 2=0,$=0 4y=1,z=0,$=0

0 ZEAKL S8 A= A
0 ZEAXNOAM AFESHE HO0|A = 7tsT (reachable) d =
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xlOilkl giol x|0=|k| AI-.Q.

£ (s) OZ22[(MB) £Lk(s) 2= (MB)

t1394Diag.c (£ £ 0.64 3.69 0.36 2.70
t1394Diag.c (£ & 1,825 2.70 9.58 1.21 5.16
pci-driver.c 2,532 1.75 9.09 0.55 4.42
cdrom.c 6,218 >90 min - 107.91 357.58
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x=0,z=0
u Hl_l-%_l?__l 7E:|O|=||-X|7I§-II % %-g—?_l- int f(int x) x=1,z=0
HEOME F7t At HE W x=2,20
IR sho x=8,2=0
H ez : L] x=3,2=0

a0 7|2 =% (basic block) 7 & return x+z:
x=2,2=0

}

z=0,$=0
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0 ZRAIM 2M0| BLD LM B2 ZRHS0| it BE A

jél-_l_l'—'— % ré |' HA |:|
x=0,z=0 y=0,z=0
int f(int x) :
{ x=0,z=0 y=1,2=0
x=0,z=0
) f(Z)

return x+z; <=07=0

) =0,z= y=0,2=0,$=0
7z=0,$=0 4y=1,z=0,$=0

O S ZNE HEcEN EM 3 MEe| D28 ¥E
Q =

ZFotOOrTt M2l = Al 8= & 7 US
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2z 22 & 24

e e

£ (s) M2 MB) FHE(s) HEZ(MB)
pci-driver.c 2,532 0.55 4.472 0.75 3.19
cdrom.c 6,218 107.91 357.58 91.45 84.79
t1394Diag.c 10,240 119.40 425.16 137.78 73.24
md.c 6,635 > 90 min - 1,819.53 1,010.81
11 rw_blk.c 5,469 > 90 min - 947.20 511.43
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Ea|x| e 2H: WYL

0 O 2R AR TXE of= HENK| HEsHA K25t
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=co|X| 2 =5 7|Ef

0 A[Rg Z[H=t
0 EE 7hs(reachable)O| OFL 2K Z2A|XN0| &= O[X|l= &
=2 0o W= 0| 7ts?
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